
 
 

Seating Arrangement Questions for SBI Clerk Prelims Exam 
 

Directions (1-5): Study the following information carefully and answer the questions given 

below.  

Eight friends A, B, C, D, E, F, G and H are sitting in a row on chairs numbered 23 to 30 in ascending order 

from left to right and all of them are facing south. C sits on the chair no. 24. There are four persons 

between C and A. B and H sit adjacent to each other. G sits adjacent to neither A nor C. E never sits on 

an odd-numbered chair. Neither B nor G sits on chair number 26. There is only one person between F 

and B. D sits left of E. 

 

Q1. Who amongst the following sits to the immediate left of E?  

(a) F  

(b) C  

(c) A  

(d) B  

(e) None of these  

 

Q2. Which of the following pairs sits at extreme ends of the row?  

(a) D, C  

(b) H, D  

(c) G, H  

(d) B, A  

(e) None of these  

 

Q3. How many persons are there between A and B?  

(a) One  

(b) None  

(c) Two  

(d) Three  

(e) None of these  

 

Q4. Four of the following five are alike in a certain way and hence from a group. Who is the one 

that does not belong to that group?  

(a) G  

(b) B  

(c) F  

(d) H  

(e) A  

 

Q5. Who among the following person sits on chair no. 25?  

(a) H  

(b) E 

(c) A 

(d) D 

(e) None of these 
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Directions (6-10): Study the following data carefully and answer the questions accordingly.  

Seven people are sitting around a circular table. Four of them face outside. M and L face the opposite 

direction of F. R sits third to the right of K. L sits immediate right of F. At least one person sits between 

P and K. M sits third to the right of P who is facing inside. Two people sit between K and F who is not a 

neighbor of M and P. R sits second to the right of H. 

 

Q6. Who sits three places away from H?  

(a) The one who sits third to the right of P  

(b) M  

(c) P  

(d) The one who sits second to the left of K  

(e) None  

 

Q7. Who among the following are the neighbors of K?  

(a) R and the one who sits immediate left of L  

(b) L, M  

(c) M, and the one who sits second to the left of R  

(d) H, P  

(e) None of these  

 

Q8. Who sits fourth to the left of M?  

(a) H  

(b) The one who sits immediate left of F  

(c) L  

(d) The one who sits third to the right of H  

(e) None of these  

 

Q9. Find the correct statement/statements from the following.  

I. R and P face the opposite direction.  

II. P sits second to the right of K.  

III. The neighbors of F face the opposite direction. 

(a) Only 1  

(b) Both 1 and 3  

(c) Both 2 and 3  

(d) Only 3  

(e) All are correct 

 

Q10. Find the odd one.  

(a) F  

(b) H  

(c) K  

(d) R  

(e) M 
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Directions (11-15): Read the following information carefully and answer the following 

questions.  

Ten people sit in a two-parallel row. Five people sit in each row. In row-1 A, B, C, D and E seated and all 

face towards south. In row-2 L, M, N, O and P seated and all face towards north. D sits second to the left 

of B. N sits third to the left of M. O does not sit at the end. People seated in row-1 face people seated in 

row-2. A sits third to the right of C. P sits second to the right of the one who faces A. B faces the one who 

sits second to the left of L. 

 

Q11. How many persons sit to the left of B?  

(a) Two  

(b) One  

(c) None  

(d) Three 

(e) Four 

 

Q12. If A is related to O and B is related to M, then in the same way C is related to _?  

(a) N  

(b) O  

(c) L  

(d) M  

(e) P  

 

Q13. Who amongst the following sits third to the right of the one who faces A?  

(a) M  

(b) L  

(c) P  

(d) O  

(e) None of these  

 

Q14. Who sits exactly between E and C?  

(a) A  

(b) B  

(c) Cannot be determined  

(d) D  

(e) None  

 

Q15. Four of the following five are alike in a certain way and hence form a group. Which of the 

following does not belong to that group?  

(a) A  

(b) N  

(c) L  

(d) D  

(e) P 
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Directions (16-20): Study the following information carefully and answer the question given 

below. 

Eight persons are sitting in a straight line and all are facing north direction. Each of them prepares for 

different competitive exam. S prepares for Bank and sits third to the right of Q. R sits immediate left of 

V who prepares for SSC. The one who prepares for AFCAT sits second to the left of Q. The one who 

prepares for UPSC sits third to the left of V. W prepares for NDA and he is an immediate neighbour of U 

who does not prepare for AFCAT. V is not an immediate neighbour of S. Persons who prepare for CDS 

and UPSC sit together. T sits third to the left of the one who prepares for UGC NET. W is not an immediate 

neighbour of S. P does not prepare for CTET. 

 

Q16. Who among the following person prepare for CTET exam? 

(a) T 

(b) R 

(c) W 

(d) U 

(e) None of these 

 

Q17. Who among the following person sits third to the right V? 

(a) The one who prepares for AFCAT 

(b) The one who prepares for CTET 

(c) S 

(d) P 

(e) None of these 

 

Q18. What is the position of Q with respect to T? 

(a) Third to the right 

(b) Immediate Left 

(c) Second to the right 

(d) Immediate Right 

(e) None of these 

 

Q19. Which of the following statement is not true about U? 

(a) U prepares for CTET 

(b) U sits immediate right of S 

(c) U does not prepare for UPSC 

(d) Only two persons sit between U and the one who prepares for SSC 

(e) Both (b) and (d) 

 

Q20. Who among the following sits immediate right of the one who prepares for UGC NET? 

(a) V 

(b) U 

(c) W 

(d) P 

(e) None of these 
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Directions (21-25): Study the following information carefully and answer the questions given 
below: 
Eight Cricketers are sitting around a circular table facing the centre. Each of them is belongs different 
country. F is sitting second to the left of A. The one who is belongs Australia is an immediate neighbour 
of A. There are only three people sitting between the one who is belongs to Australia and E. Only one 
person sits between the one who is belongs to England and E. The one who is belongs to South Africa is 
to the immediate right of the one who is belongs to England. B is second to the right of A. H belongs to 
Australia. G and C are immediate neighbours of each other. Neither G nor C belongs to England. The one 
who is belongs to Pakistan is immediate left of F. The one who is belongs to West Indies is second to the 
right of the one who is belongs to South Africa. The one who is belongs to India is an immediate 
neighbour of the one who is belongs to England. G is second to the right of the one who is belongs to 
Bangladesh. D sits third to the right of the one who belongs to Sri Lanka. 
 
Q21. Who among the following sits second to the left of the one who belongs to West Indies? 
(a) B 
(b) A 
(c) F 
(d) D 
(e) C 
 
Q22. Who among the following belongs to Pakistan?  
(a) D 
(b) A 
(c) G 
(d) E 
(e) F 
 
Q23. Which of the following statement is true about A? 
(a) F sits third right of A 
(b) A belongs to South Africa 
(c) Only two persons sit between A and F 
(d) A belongs to India 
(e) A sits immediate left of G 
 
Q24. What is the position of C with respect to H? 
(a) Immediate left 
(b) Second to the right 
(c) Third to the left 
(d) Fourth to the right 
(e) None of these 
 
Q25. Who among the following facing the one who belongs to Bangladesh? 
(a) B 
(b) H 
(c) G 
(d) F 
(e) C 
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Directions (26-30): Read the following information carefully to answer the questions based on 

it.  

Nine people are sitting in two parallel rows containing five seats in such a way that there is an equal 

distance between adjacent seats. In row 1 – P, Q, R and S are seated and all of them are facing north. In 

row 2 – A, B, C, D and E are seated and all of them are facing south. Therefore, in the given arrangement, 

each member seated in a row faces another member of the other row. One of the seats in one of the 

rows is vacant. Each one of them likes a different channels like Colors, Zeetv, Aajtak, Ristey, Starplus, 

Aastha, Sadhna, Zeenews and 9XM. All the information is not necessarily in the same order.  

A sits opposite to the one who likes 9XM and sits at one of the ends of the row. The one who likes Zeetv, 

is not C, sits second to the right of A. E sits exactly between C and the one who likes Starplus who is not 

A. The one who likes Aajtak sits opposite to the vacant seat. No ends of the row are vacant. The one who 

likes Colors sits opposite the one who is to the immediate left of the vacant seat. The one who likes 

Ristey, who is not Q, sits opposite D. B does not sit at any ends of the row, but sits opposite the one who 

likes Aastha, who sits exactly between P and the one who likes Sadhna. R neither likes Aastha nor Ristey.  

 

Q26. Who among the following likes Sadhna?  

(a) A  

(b) Q  

(c) R  

(d) S  

(e) None of these  

 

Q27. Who among the following sits opposite to the one who sits second to the right of the vacant 

seat?  

(a) The one who likes Zeenews 

(b) A  

(c) B  

(d) The one who likes Aajtak 

(e) None of these  

 

Q28. Which of the following channels is liked by S?  

(a) Sadhna 

(b) Zeenews 

(c) Aastha  

(d) Ristey 

(e) None of these  

 

Q29. Which of the following combinations is correct?  

(a) Q - Sadhna  

(b) R - Zeenews  

(c) S - Ristey  

(d) P - Colors  

(e) None of these  
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Q30. The one who likes 9XM is how many places away from the vacant seat?  

(a) One  

(b) Two  

(c) Three  

(d) Four  

(e) None of these 

 

Directions (31-35): Study the information carefully and answer the following questions.  

Eight people i.e., M, N, O, P, Q, R, S and T sit in a square-shaped table. Four people sit at the four corners 

of the table and face outside the table. Four people sit at the middle of the four sides and face inside the 

table. N sits at the side of the table. Two people sit between N and T. M sits second to the right of T. P 

sits second to the right of S. S sits at the corner of the table. The one who sits opposite to P sits adjacent 

to O. O does not sit adjacent to S. Q does not sit adjacent to P. 

 

Q31. How many people sit between T and M when counted from left of M? 

(a) Three 

(b) One 

(c) Two 

(d) None 

(e) Four 

 

Q32. Four of the following five are alike in a certain way and hence form a group. Find the one 

which does not belong to that group.  

(a) M-Q  

(b) S-O  

(c) N-S  

(d) R-T  

(e) P-R 

 

Q33. Who sits third to the left of R? 

(a) O 

(b) M 

(c) Q 

(d) S 

(e) None of these 

 

Q34. Who amongst the following sits opposite to R?  

(a) O  

(b) Q  

(c) M  

(d) S  

(e) None of these 
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Q35. What is the position of S with respect to T?  
(a) Immediate right  
(b) Second to the right  
(c) Third to the left  
(d) Fourth to the right  
(e) None of these 
 
Directions (36-40): Study the following information carefully and answer the question given 
below- 
Ten persons are seating on two parallel rows. P, Q, R, S, and T are seating in row 1 and facing towards 
north. A, B, C, D and E are seating in row 2 and facing south. Persons who are facing north like some 
Sports and Persons who are facing south like some City.  
The one who likes Pune faces the one who sits immediate left of Q who likes Hockey. A sits at one of the 
extreme end of the row and likes Manali. Only two persons sit between the one who face A and the one 
who likes Cricket. D sits second to the left of E. P likes Boxing and faces A. The one who likes Volleyball 
sits third to the left of the one who faces the one who likes Sikkim. R sits second to the left of S and faces 
the one who likes Varanasi. C sits at one of the positions to the right of the one who likes Chennai. One 
of these persons likes Football. Neither E nor D face the one who likes Cricket.  
 
Q36. Who among the following person sits immediate right of the one who likes Football? 
(a) S 
(b) P 
(c) R 
(d) Q 
(e) None of these 
 
Q37. Who among the following sits opposite to the one who likes Cricket? 
(a) A 
(b) B 
(c) C 
(d) D 
(e) None of these 
 
Q38. Who among the following likes Varanasi? 
(a) E 
(b) B 
(c) C 
(d) A 
(e) None of these 
 
Q39. What is the position of A with respect to one who likes 
Pune? 
(a) Third to the left 
(b) Immediate right 
(c) Second to the left 
(d) Third to the right 
(e) None of these 
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Q40. Which of the following statement is not true about D? 
(a) D sits at the end 
(b) R sits opposite to D 
(c) D likes Sikkim 
(d) D sits immediate right of B 
(e) Both (b) and (d) 
 
Directions (41-45): Study the following information carefully and answer the given questions. 
Eight persons are sitting around a circular table, in such a way some are facing inside while some are 
facing outside the center. Each of them likes different fruits.  
C sits third to the left of the one who likes Grapes. The one who likes Grapes faces outside. Only two 
persons sit between C and H. The one who likes Mango sits on the immediate right of H who is facing 
outside. The one who likes Kiwi sits second to the right of G. B likes Guava. G is neither an immediate 
neighbour of H nor of C. G does not like Grapes. Only one person sits between A and the one who likes 
Kiwi. D sits on the immediate left of the one who likes Banana. G does not like Banana. E likes Litchi. E 
is not an immediate neighbour of A who likes mango. The one who likes Apple is an immediate 
neighbour of E. The one who likes Orange is an immediate neighbour of F. B is facing same direction as 
F and E but opposite to A and C who does not like apple. C is facing same direction as D. 
 
Q41. Who among the following likes Grapes? 
(a) D 
(b) E 
(c) B 
(d) F 
(e) None of these 
 
Q42. Who among the following sits second to the right of the one who likes Kiwi? 
(a) B 
(b) D 
(c) G 
(d) A 
(e) None of these 
 
Q43. A likes which of the following Fruit? 
(a) Kiwi 
(b) Mango 
(c) Apple 
(d) Orange 
(e) None of these 
 
Q44. Who among the following faces the one who sits third to the left of B? 
(a) H 
(b) the one who likes Orange 
(c) E 
(d) the one who sits second to the right of G 
(e) None of these 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 
 

 
Q45. Which of the following fruit likes by the one who sits third to the right of D? 
(a) Apple 
(b) Litchi 
(c) Guava 
(d) Banana 
(e) None of these 
 
Directions (46-50): Study the following information carefully and answer the questions given 
below: 
Sixteen persons are sitting in two parallel rows containing four sofas in each row in such a way that 
there is an equal distance between adjacent sofas. In the first row, eight persons i.e. A, B, C, D, E, F, G and 
H are seated and all of them are facing south. In the second row, eight persons i.e., P, Q, R, S, T, U, V and 
W are seated and all of them are facing north. Therefore, in the given seating arrangement, each person 
seated in a row faces another person of the other row. Two persons sit on each sofa.  
Three persons sit between D and G. H sits between A and E. F faces to S. B sits on the extreme right end 
Sofa. Three persons sit between A and B. W faces to A. Two persons sit between P and W. Persons sit to 
the left of P is one less than the persons sit to the right of Q. E sits diagonally opposite to R. More than 
one person sit between B and E. V sits immediate left of U. Only one person sits between U and W. No 
one sit between D and F.  
 
Q46. Who among the following faces to C? 
(a) R 
(b) V 
(c) Q 
(d) P 
(e) W 
 
Q47. How many persons sit between V and T? 
(a) One 
(b) None  
(c) More than three 
(d) Three 
(e) None of these 
 
Q48. What is the position of C with respect to H? 
(a) 5th to the right 
(b) 4th to the right 
(c) 3rd to the left 
(d) 4th to the left 
(e) 2nd to the right 
 
Q49. The number of persons sit between P and V is same as the number of persons sit between 
H and ____________? 
(a) A 
(b) B 
(c) C 
(d) D 
(e) None of these 
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Q50. Four of the following five are alike in a certain way and hence they form a group. Which one 

of the following does not belong to that group? 

(a) E 

(b) U 

(c) R 

(d) S 

(e) G 

 

Directions (51-55): Study the following information carefully and answer the question given 

below. 

Eight persons are setting in a row, some of them are facing towards north direction and some of them 

are facing towards south direction also they like different Zodiac Sign- Pisces, Aries, Leo, Geminin, 

Scorpio, Virgo, Cancer and Libra (not necessarily in same order). 

C sits fourth to the right of A, who is facing north direction. D sits fourth to the right of the one who likes 

Geminin. There are only four persons sit between E and the one who likes Virgo. G likes Scorpio sit 

second to the left of C. B sits second to the right of A. D and H facing same direction but opposite to E. F, 

who likes libra is an immediate neighbour of C and does not face south. There are only two persons sit 

between C and E, who is not an immediate neighbor of A. E is facing north. The one who like Aries facing 

north and sits fourth to the right of the one who likes cancer. G faces opposite direction to B, who faces 

same as F. The one who likes Pisces is an immediate neighbour of the one who likes Scorpio. H is one of 

the members.  

 

Q51. Who among the following likes Pisces? 

(a) D 

(b) C 

(c) A 

(d) E 

(e) None of these 

 

Q52. Who among the following sits second to the right of the one who likes Virgo? 

(a) The one who likes Aries 

(b) F 

(c) The one who likes Cancer 

(d) G 

(e) None of these 

 

Q53. H likes which of the following Zodiac Sign? 

(a) Leo 

(b) Gemini  

(c) Pisces 

(d) Libra 

(e) None of these 
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Q54. What is the position of F with respect to G? 

(a) Fourth to the left 

(b) Second to the right 

(c) Immediate Left 

(d) Third to the right 

(e) None of these 

 

Q55. Which of the following statement is true about H? 

(a) H sits one of the extreme ends of the row 

(b) H is an immediate neighbour of C 

(c) B sits second to the left of H 

(d) H likes Scorpio 

(e) None of these 

 

Directions (56-60): Study the following information carefully and answer the given questions.  

A certain number of people sit around a circular table and face outside the table. S sits third to the right 

of L. One person sits between S and F. The number of people sits between L and S when counted from 

the left of S is the same as the number of people sit between A and R when counted from the right of A. 

Two people sit between F and D who doesn’t sit adjacent to S. The number of people sits between R and 

L when counted from the right of R is one more than the number of people sit between F and D when 

counted from the left of D. Three people sit between D and M who doesn’t sit between F and S. A sits 

second to the right of M. More than two people sit between A and D, when counted either right or left 

of D. Number of people seated between Q and L equals the number of people seated between R and Q.  

 

Q56. Who amongst the following sits exactly between A and S, when counted clockwise from A?  

(a) D  

(b) Q  

(c) R  

(d) F  

(e) None of these  

 

Q57. How many people sit around the circular table?  

(a) Twenty-one  

(b) Nineteen  

(c) Twenty  

(d) Eighteen  

(e) None of these  

 

Q58. What is the position of R with respect to D?  

(a) Ninth to the left  

(b) Ninth to the right  

(c) Eighth to the left  

(d) Eighth to the right  

(e) None of these 
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Q59. Who amongst the following sits ninth to the right of M?  

(a) F  

(b) L  

(c) Q  

(d) S  

(e) None of these  

 

Q60. If S is related to F and M is related to A then in the same manner Q is related to whom?  

(a) R  

(b) S  

(c) L  

(d) M  

(e) None of these 

 

Directions (61-65): Study the following information carefully and answer the questions given 

below: 

Eight persons of different ages sit around a square table. Four of them sit at corners and face outside 

and the remaining sit at middle of the sides of the square table and face inside. Persons ages are in 

Arithmetic Progression and sum of their ages is 96 years.  

B sits 2nd to the right of A who is oldest person. Two persons sit between A and Q who is 5 years old. 

Person whose age is 7 years is just older than Q who sits next to B who is just older than P and just 

younger than Z. D and Z sits opposite to each other. C is older than Z and younger than X who sits next 

to Q. C is an immediate neighbor of P and Z. Only one person is younger than D who sits at corner.  

 

Q61. Who among the following is 3rd youngest person? 

(a) P 

(b) Q 

(c) Z 

(d) X 

(e) None of these 

 

Q62. What is the sum of the ages of C and B? 

(a) 18 

(b) 24 

(c) 26 

(d) 27 

(e) None of these 

 

Q63. How many persons are older than Z? 

(a) Three 

(b) Four 

(c) Five 

(d) Six 

(e) None of these 
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Q64. What is the position of 2nd youngest person with respect to 2nd oldest person? 

(a) Immediate left 

(b) Immediate right 

(c) 2nd to the left 
(d) 2nd to the right 

(e) None of these 

 

Q65. Four of the following five are alike in certain way and hence form a group, find the one which 

does not belong to that group? 
(a) P 

(b) A 

(c) Q 

(d) Z 
(e) D 

 

Directions (66-70): Study the following information carefully and answer the questions given 

below: 

Seven persons sit in a row and all of them face in the north direction. Four of them like different colors. 
N who likes white color sits at one of the extreme ends of the row. Only two persons sits between N and 

R. R sits to the immediate left of the one who likes green. D sits to the immediate left of M and to the 

immediate right of S.M sits third to the right of R. P who does not like any color sits fourth to the left of 

D. More than two persons sit between M and the one who likes blue. The one who likes red sits fourth 
to the right of Q.  

 

Q66. How many students sit between P and the one who likes red? 

(a) None 
(b) One 

(c) Two 

(d) More than three 

(e) Three 

 
Q67. Four of the following five are alike in a certain way and hence form a group which of the 

following does not belong to the group? 

(a) N-White 

(b) P-Blue 
(c) S-green 

(d) M-red 

(e) Q-blue 

 
Q68. Who among the following is second to the right of Q? 

(a) S 

(b) N 

(c) D 

(d) M 
(e) None of these 
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Q69. Which of the following statements is true? 

(a) S sits to the immediate right of R. 

(b) Only one person sits between P and R 

(c) D does not like any color. 

(d) No on sits towards the left of N 

(e) All are true 

 

Q70. Which of the following persons sits at the extreme end of the row? 

(a) P 

(b) The one who likes green 

(c) M 

(d) The one who likes blue 

(e) D 

 

Directions (71-75): Study the following information carefully and answer the questions given 

below. 

Eight persons sit around a circular table some of them face towards the centre of the table and some of 

them face outside the centre of the table. R sits second to the right of Q. Two persons sit between R and 

T. P sits third to the right of T. P and Q face each other. U sits second to the right of P and faces R. W sits 

opposite to V who is not an immediate neighbour of P. V sits second to the left of S. V faces same direction 

as R and W. U faces opposite direction as W. 

 

Q71. Four of the following five belong to a group in a certain way, find the one which does not 

belong to that group? 

(a) P  

(b) S 

(c) T 

(d) U 

(e) Q 

 

Q72. How many persons sit between Q and S when counted from the left of Q? 

(a) Three 

(b) Four 

(c) Five 

(d) Two 

(e) None of these 

 

Q73. What is the position of S with respect to W?  

(a) Second to the left 

(b) Third to the left 

(c) Third to the right 

(d) Second to the right 

(e) None of these 
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Q74. Which among the following statements is not true? 
I. Q faces towards the centre 
II. S sits opposite to T 
III. No one sits between P and R 
(a) Only I 
(b) Both I and II 
(c) Both II and III 
(d) Only II 
(e) Only III 
 
Q75. How many persons face outside the center of table? 
(a) Four 
(b) Two 
(c) Three 
(d) One 
(e) None of these 
 
Directions (76-80): Study the following information carefully and answer the questions 
accordingly.  
Five M, N, O, P, and Q are sitting around a pentagon-shaped table at the vertices facing inside but not 
necessarily in the same order. Each one of them likes different colours and lives in different states. The 
one who likes Black sits second to the left of the one who likes Pink. The one who lives three places away 
from the one who lives in Jammu likes White. N likes Red but does not live in Assam. M is not an 
immediate neighbour of Q and lives in either Punjab or Haryana. M sits second to the right of P who likes 
Grey. The one, who likes White and Grey are not immediate neighbours. The one who lives in Haryana 
sits the immediate right of the one who lives in Jammu. The one who lives in Kerala is an immediate 
neighbour of Q. The one who lives in Assam is not an immediate neighbour of P.  
 
Q76. Who among the following likes Pink? 
(a) The one who lives in Assam  
(b) The one who sits near N  
(c) The one who sits immediate right of P 
(d) The one who lives in Punjab  
(e) None of these 
 
Q77. The one who sits second to the right of the person who likes White lives in………...? 
(a) Punjab  
(b) Haryana  
(c) Jammu  
(d) Kerala  
(e) None of these 
 
Q78. Who among the following are the immediate neighbors?  
(a) N and the one who likes White  
(b) The one who likes Black and Grey  
(c) Q and P  
(d) The one who lives in Punjab and Jammu  
(e) None of these  
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Q79. Four among the following five are same in a certain manner and related to a group. Which 

among the following does not belong to the group? 

(a) Q - Jammu  

(b) M - Black  

(c) P - Kerala  

(d) O - Assam  

(e) N- Jammu 

 

Q80. The one who lives in Haryana like………………..? 

(a) Pink  

(b) Black  

(c) Red  

(d) Grey  

(e) None of these 

 

Directions (81-85): Study the following information carefully and answer the questions 

accordingly.  

A certain number of people are sitting around a circular table facing the center. S sits to the immediate 

left of K who sits opposite to L. More than ten and less than sixteen people are sitting in this 

arrangement. H sits fifth to the right of S. Three people are sitting between D and H. L and D are not 

immediate neighbors. Two people sit between N and D. Four people sit between M and N. Three people 

sit between Q and M.  

 

Q81. How many people are sitting in this arrangement?  

(a) 14  

(b) 12  

(c) 13  

(d) 11  

(e) None of these  

 

Q82. Who sits opposite to N?  

(a) S  

(b) M  

(c) Q  

(d) D  

(e) None of these  

 

Q83. Who among the following is/are the immediate neighbors of L?  

(a) Both Q and D  

(b) H 

(c) Both H and M  

(d) N 

(e) None of these  
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Q84. If C is an immediate neighbor of H, then which of the following is true regarding C?  
(a) K is an immediate neighbor of C  
(b) Four people are sitting between C and S  
(c) L sits third to the right of C 
(d) M and C are immediate neighbors  
(e) All are correct  
 
Q85. Four among the following five are same in a certain way and forms a group. Which among 
the following does not belong to the group? 
(a) M, K  
(b) H, Q  
(c) Q, K  
(d) N, H  
(e) L, D 
 
Directions (86-90): Study the following information carefully and answer the questions 
accordingly. 
Sixteen people are sitting in two rows. In row 1 – E, F, G, H, I, K, L and M are sitting and facing the south 
direction and in row 2 – N, O, P, Q, R, S, T and U are sitting and facing the north direction but not 
necessarily in the same order. 
L sits fourth to the right of I. The one who sits opposite to I, sits second to the left of T. The one who sits 
opposite to L, sits to the right of Q. Two people sit between Q and N who is not opposite to H. Three 
people sit between G and the one who sits opposite to N. Four people sit between E and G. The one who 
sits opposite to E, sits three places away from P. F sits second to the right of M who is not opposite to O. 
R sits immediate right of U. 
 
Q86. Who sits second to the right of O? 
(a) G  
(b) P 
(c) S  
(d) T 
(e) None of these 
 
Q87. What is the position of H from the one who sits opposite P? 
(a) Fifth to the left  
(b) Fourth to the right 
(c) Third to the left  
(d) Fifth to the right 
(e) None of these 
 
Q88. How many people sit to the right of the one who sits opposite the one who sits immediate 
right of K? 
(a) Two  
(b) Five 
(c) Six  
(d) Three 
(e) None of these 
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Q89. Find the correct statement from the following. 

(a) Three people sit between M and L 

(b) The one, who sits opposite to E, sits to the left of U 

(c) More than three people sit to the right of K  

(d) Less than four people sit to the right of O 

(e) All are correct 

 

Q90. Four among the following five are same in a certain way and forms a group. Who among the 

following does not belong to the group? 

(a) H  

(b) T 

(c) G  

(d) Q 

(e) S 

 

Directions (91-95): Study the lowing information to answer the given questions: 

S, T, U, V, W, X, Y and Z are sitting in a straight line equidistant from each other (but not necessarily in 

the same order). Some of them are facing south while some are facing north. 

Three persons sit between W and U who sits at an extreme end. Y sits third to the right of W. Both the 

immediate neighbor of W faces opposite direction of W. T sits 2nd to the right of X and both faces south 

direction. Z and T sits immediate right to each other and none of them sits at any extreme end. S faces 

north. V doesn’t sit adjacent to U and Y. Y and U faces same direction as T but opposite to V.  

 

Q91. How many persons in the given arrangement are facing north? 

(a) More than four 

(b) Four 

(c) One  

(d) Three 

(e) Two 

 

Q92. Four of the following five are alike in a certain way, and so form a group. Which of the 

following does not belong to the group? 

(a) W, X  

(b) Z, Y 

(c) T, S  

(d) T, Y 

(e) V, U 

 

Q93. What is the position of S with respect to Z? 

(a) Second to the left 

(b) Third to the right 

(c) Third to the left 

(d) Fourth to the right 

(e) Second to the right 
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Q94. Who amongst the following sits exactly between Z and W? 

(a) T 

(b) Y 

(c) X 

(d) W 

(e) U 

 

Q95. Who is sitting 2nd to the right of T? 

(a) Z 

(b) V 

(c) X 

(d) W 

(e) None of these 

 

Directions (96-100): Study the following information carefully and answer the questions 

accordingly.  

Eight people are sitting around a square table. Four of them are sitting at the corners facing outside and 

the remaining four are sitting at the sides of the table facing inside. Z sits at the corner. One person sits 

between Z and X who is not a neighbor of N. Two people sit between X and S who is not a neighbor of Z. 

R sits immediate right of S. N sits third to the right of R. N and S does not sit opposite F. V sits second to 

the right of U.  

 

Q96. Who among the following sits opposite N? 

(a) Z 

(b) V 

(c) R 

(d) U 

(e) None of these 

 

Q97. How many people sit between R and V? 

(a) Six  

(b) One  

(c) Four  

(d) Three  

(e) Five  

 

Q98. Who among the following sits between F and R (when counted to the left of F)?  

(a) U  

(b) S  

(c) X  

(d) Z  

(e) None of these  
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Q99. Who among the following are the immediate neighbors of Z?  
(a) N, U  
(b) S, R  
(c) X, F  
(d) V, N  
(e) None of these  
 
Q100. How many letters are there in alphabetical series between F and the one who sits third to 
the left of X? 
(a) Seven  
(b) Five  
(c) Nine  
(d) Six  
(e) Eight 
 

Solutions 
 
Solutions (1-5): 
Sol.  

 
 
S1. Ans.(c) 
S2. Ans.(e) 
S3. Ans.(d) 
S4. Ans.(d)  
S5. Ans.(e) 

 
Solutions (6-10): 

 
 
S6. Ans.(d) 
S7. Ans.(c) 
S8. Ans.(b) 
S9. Ans.(e) 
S10. Ans.(e) 
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Solutions (11-15): 

 

 
 

S11. Ans.(a) 

S12. Ans.(c) 

S13. Ans.(a) 

S14. Ans.(b) 

S15. Ans.(e) 

 

Solutions (16-20): 

 
 

S16. Ans.(d) 

S17. Ans.(b) 

S18. Ans.(a) 

S19. Ans.(b) 

S20. Ans.(c) 

 

Solutions (21-25): 

 
 

S21. Ans.(a)  

S22. Ans.(c) 

S23. Ans.(d) 

S24. Ans.(c) 

S25. Ans.(b) 
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Solution (26-30): 

 
 
S26. Ans.(c) 
S27. Ans.(c) 
S28. Ans.(d) 
S29. Ans.(c) 
S30. Ans.(c) 
 
Solutions (31-35): 

 
 
S31. Ans.(b) 
S32. Ans.(b) 
S33. Ans.(b) 
S34. Ans.(b) 
S35. Ans.(d) 
 
Solutions (36-40): 

 
 
S36. Ans.(a) 
S37. Ans.(b) 
S38. Ans.(c) 
S39. Ans.(d) 
S40. Ans.(e) 
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Solutions (41-45): 

 
 

S41. Ans.(d) 

S42. Ans.(d) 

S43. Ans.(b) 

S44. Ans.(d) 

S45. Ans.(b) 

 

Solutions (46-50): 

 
 

S46. Ans.(d) 

S47. Ans.(c) 

S48. Ans.(b) 

S49. Ans.(c) 

S50. Ans.(d) 

 

Solutions (51-55): 

 
 

S51. Ans.(d) 

S52. Ans.(c) 

S53. Ans.(b) 

S54. Ans.(d) 

S55. Ans.(b) 
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Solutions (56-60): 

 
 

S56. Ans.(b) 

S57. Ans.(a) 

S58. Ans.(b) 

S59. Ans.(b) 

S60. Ans.(c) 

 

Solutions (61-65): 

Persons Q D P B Z C X A 

Ages 5 7 9 11 13 15 17 19 

 
 

S61. Ans.(a) 

S62. Ans.(c) 

S63. Ans.(a) 

S64. Ans.(e) 

S65. Ans.(b) 

 

Solutions (66-70): 
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S66. Ans.(d) 

S67. Ans.(b) 

S68. Ans.(a) 

S69. Ans.(e) 

S70. Ans.(c) 

 

Solutions (71-75):  

 

 

S71. Ans.(c) 

S72. Ans.(b) 

S73. Ans.(d) 

S74. Ans.(e) 

S75. Ans.(a) 

 

Solutions (76-80): 

 

 

S76 Ans.(d) 

S77 Ans.(d) 

S78 Ans.(c) 

S79 Ans.(a) 

S80 Ans.(b) 
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Solutions (81-85): 

 
 

S81. Ans.(b) 

S82. Ans.(a) 

S83. Ans.(d) 

S84. Ans.(c) 

S85. Ans.(d) 

 

Solutions (86-90):  

 
 

S86. Ans.(c) 

S87. Ans.(d) 

S88. Ans.(b) 

S89. Ans.(d) 

S90. Ans.(e) 

 

Solutions (91-95): 

 
 

S91. Ans.(b) 

S92. Ans.(d) 

S93. Ans.(d) 

S94. Ans.(a) 

S95. Ans.(b) 
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Solutions (96-100): 

 
 

S96. Ans.(d) 

S97. Ans.(c) 

S98. Ans.(b) 

S99. Ans.(d) 

S100. Ans.(a) 
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